13.3 Let B be the set of all bounded sequences @ = (z1, x2, .. .), and define
d(z,y) = sup{|z; —y;|: j=1,2,...}.

(a) Show d is a metric for B.
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13.5 (a) Verify one of DeMorgan’s Laws for sets:

(WS\U:Ueuy=8\| J{U:U eu}.

(b) Show that the intersection of any collection of closed sets is a
closed set.
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13.7 Show that every open set in R is the disjoint union of a finite or
infinite sequence of open intervals.
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5. Prove that S is the intersection of all closed subsets in X that contains 5. (you may assume result in 4, namely, Sis closed)

one of DeMorgan’s Laws for sets:

(WS\U:Ueuy=S\| J{U:U eu}.




